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1. Given below are two Sta) and other as

labelled as Assertion (A

ason (R) : -
i(;sertitin] (A) : The Mughal Empirc was
originally a Military Statc. —
Reason (R) : Thevitality of the dc;fcs ;stcm
of the Central Go'vcrnmcn. ]
depended on its military pO.WC .- 4
Select the correct answer using the codes
given below.

Codes : .

(a) Both (A) and (R) are true and (R) is
correct explanation of (A) .

(b) Both (A) and (R) are true, but (R) is
not the correct explangthxa: of (A) -

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

2. Which of the following Islands is NOT
located in the Caribbean Sea ?

(a) Grenada (b) Montserrat.
(c) Madeira (d) Anguilla

3. Which of the following Institution/Office
bring out the Wholesale Price Index (WPI)
data in India ?

(a) The Reserve Bank of India +

(b) The Ministry of Commerce and
Industry -

(c) The Ministry of Finance

(d) The Ministry of Consumer Affairs,
Food and Public Distribution

4. The National Disaster Management
Division in India is the nodal ivision

in the Ministry of Home Affairs-for |1

disaster management. Who ‘is “the
Ex-officio Chairman of the National
Disaster Management Authority ?

(a) The Prime Minister

(b) The Home Minister

(c) The Defence Minister

(d) The Health and Family Welfare Minister

5. Uttar Pradesh Government declared in
budget 2021-22 to provide tablet for

student under which of the following
Yojna ?

(a) Chief Minister Abhyudaya Yoina
(b) Chief Minister Rozgar Yojng :

(c) Chief Minister Balseyg Yojna

(d) Chief Minister Education Yojna
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1. R Qe R e , R & o6 1 SR (4)
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6. Which one of the following is NOT a major | ¢, frferfiad 3 @ FH1-H1 TF Il &I TG IAGH
coco producer country ? ' . 37
(a) Latvia {b) Cameroon (a) Sraten (b) FE
(c) Ghana (d) Ivory Coast (c) I (@ FTE Pl
T WhICh .Of the fO!]OWil‘lg ArtiClCS Of 2 Wﬁﬁ Wqﬁﬁmwm-m
gé)entlirrlx(é]an Cansctllg!)utlon is related to syerfatRa1 AT 8 et @ 7
igency Fun e o
() Article 265 (b) Article 266 (o) o707 265 (b) SR 266
(c) Article 267 (d) Article 268 () 3IFTIE 267  (d) TR 268
8. Whatis the theme of World Youth Skills | 8. fia Za1 i fa, 2021 %1 fawr (theme)
ay, 2021 ? s
(@) Young People and Skills . -
(b) Skills Development and - (a) T T TS 6
9 gmployment " (b) rcE LTEIHE T TRATAHE
C) Young People and Ent eneurshi . =
id) Reimagining Yonth Skl pect T (c) 1 e T8 Trsfiaieia
Pandemic (d) Tsh=fim 9y fores one =2fis
9. At the time of second wave of | 9 =Fifi=19 M <l gall Tt % a9y fohe weye
COVID-19 Pandemic, which institute S T T SRe § geey
had demonstrated the conversion of 1 AlzgloH i : L B3l
nutrogen generator into oxygen generator ? __9_?«'3‘:'[ Teparr o1 7 i _
(a) IISc, Bengaluru (a) ST fomm Hewm, S
(b) IIT, Bombay (b) 3T%.378. A, s
(c) IIT, Madras (c) 3M5.3ME. 4., Hg™
(d) IIT, Kanpur (d) 31%.378. 2., IR
10. Which qlx)lle ct>_f the fcigellllcl)\;ing causes is- 10. F=fafes § & SF-ar wror wm ¥ sm-uem
responsible for rainfall during winters : : %-%Q—’*—*
in north-western part of India ? M & St g H gH aredt o IR 3 7
(a) Retreating Monsoon (a) AT 1 FTHET
(b) Cyclonic depression (b) RIS FHegT M
(c) Western disturbances (c) wfeerdt faein
(d) South-West Monsoon (d) ERor-fPem AR 3
11. Flyash pollution is caused by 11, v EEL Bl
(a) Oil refining (a) O e } s
(b) Fertilizerindustry (b) Itk I A
(c) Thermal power plant (c) a9 foregm W @
(d) Mining (d) @= |
12. ‘Uttar Pradesh Swami }llvckaqand 12, ‘I9 wey e ﬁﬁm s W T
Etihasik Paryatan Yatra Yojna 2021’ was W —2_
introduced by the U.P. Government for F ] -Em IH W Wf{ + i RIE]
which of the following people for religious WT%%Q?R LR fora wafeaal & Fﬁq I H
travel ?
(a) Elderly (b) Women (a) % fa (b) wheemaT 3 forn
(c) Widows (d) Labourers (c) Tavanatt & fom :
() gl & forg
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13.

14.

15.

16.

17.

18.

19,

20.

Which one of the following reflects back
more sunlight as compared to other
three ?

(a) Sand Desert

(b) Paddy crop land

(c) Land covered with fresh snow

(d) Prairie land

In which one of the following cities
country’s first Indian Institute of Skills
was established ?
(a) Ahmedabad
(c) Rohtak

The winner of the women’s single title at
the French Open Tennis Tournament,
2021, Barbora Krejcikova is from which
of the following countries ?

(a) Czech Republic (b) Serbia

(c) Croatia (d) Spain

Who among the following person said
for the Fundamental Rights “a pledge to

our people and a pact with the civilized
world” ? S

(a) Pt. Jawahar Lal Nehru

(b) Dr. Bhim Rao Ambedkar

(c) Dr. Rajendra Prasad

(d) Dr. S. Radha Krishnan

Riboflavin deficiency causes which of the
following diseases ?

(a) Pellagra -~ - - (b} Scurvy-.-

(c) Beri Beri (d) Cheilosis

In which State of India is the Harappan
Civilization site Mandi situated ?

(a) Gujarat (b) Haryana
(c) Rajasthan (d) Uttar Pradesh

(b) Mumbali
(d) Kanpur

R T

Which of the following is NOT mosquito
borne disease ?

(a) Dengue fever (b) Filariasis

(c) Sleeping sickness (d) Malaria

Which of the followin State has the

lowest density of populati
Census of 2031(1 ?p P ah?"’ as per the

(a) Himachal Pradesh
(b) Arunachal Pradesh
(c) West Bengal

(d) Mizoram

SMRN-1 - 2]

13. fr=fefag § & 97 3= 1 1 g 3 T

14.

15.

16.

17

18.

19,

20,

g3 &1 e yrafda wtar @ ?

(a) Ta =1 e

(b) U &t @l H

(c) TS &% & &ehl i

(d) vt iy (FwfiareT)
frafofas wed & @ form e ° <@ w1 g
R hivrer geuH e femn man 7

(a) 3TEHETETE (b) &=

(c) T&eTh (d) I

e afige 2w g@fie, 2021 i Afeen THd

R 1 faoidl, SRET0 shatgehal (teTiad
Aufracudse ?

(a) S TR (b) @fear

(c) SRITRmET (d) ¥

fferfaa 1 @ frg =afFa 3 go it 6 T
it 3 fore we wiemn @en o fava & @y
TR TS el o ?

(a) ufvEa SaTR AT EE

(b) ST, sfimre st

{c) ST. TSFE 9918 -

(d) 1. TH. THTHFVH

g A =il & fe § & Sl-T o

?
(b) TRt
- (d) SseRE

%@;m?mmwaw,m%mmﬁ
K

(a) TSR (b) BT

(o) TR - - (d) IR weW
ﬁn%f@aﬁﬁﬂq—mﬁnw—q—ﬁgaqg%?
(@) ST = (b) wTsRRETRE

(c) FgT o (d) Wi

2011 ) ST % fra :
T e et ?GHHR T TS 1 e
(a) TewTe Sew

(b) IR Wew

(c) ufsesdt s

(d) s
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21.

22,

23.

24.

25.

26.

Botulism is

(a) Food-borne infection

(b) Food-borne intoxication
(c) Water-borne infection
(d) Water-borne intoxication

Which Constitution Amendment Act

reduced the votj
8 vears ? ing age from 21 years to

(@) 66" Amendment
(b) 624 Amendment
(c) 615t Amendment
(d) 63" Amendment

Wigh reference to the radioactivity,

which of the following statements is /are

correct ?

1. Radioactivity is a nuclear property.

2, H}{dr(?gen bomb is prepared on the
principle of nuclear fission.

Sf:lect the correct answer using the codes
given below.

Codes :
(a) Only 1
(c) Both 1 and 2

(b) Only 2
(d) Neither 1 nor 2

With reference to NTPC unit at Singrauli,
which of the following statement/sis/are
correct ?
1. It is situated in Northern part of
Chhattisgarh State.

2. It is NTPC’s oldest unit.

Select the correct answer using the codes
given below.

Codes :
(@) Only 1
(c) Both 1 and 2

Diffusion of light in the atmosphere takes
place due to

(a) Carbon dioxide

(b) Dust particles

(c) Helium

(d) Water vapours

ommendation of which
8§m§:11igs{oerf /Committee, the Inter-state
Council was set up in India ?
(a) Punchhi Commission
(b) Rajmannar Committee
(c) Kothari Committee
{d) Sarkaria Commission

(b) Only 2
(d) Neither 1 nor 2

21.

22.

23.

24.

25.

26.

SMRN-1 - 21

aefr ,

@) ,ﬁw_mﬁz‘ﬁww

(b) - A B A fater

(C) ;;a—:ﬂﬁ?f HQA;I]D]

(d):ﬂﬂ-ﬁﬁfﬁﬁw

-0 dfaur q5M9A AfufEs gm gaeE #
a1 1 21 T T e 18 1 fob o o 7
Ty 66 41 e

(b) 62 A ¥

(c) 61 af EMEA

(d) 63 af TN

Wehufifar & v # Fr=fafaa w1 5 3
F-a1/4 T 8/8 7

1. emafifar o i e |

2. Tifh faraven & fagra W 2Ry =9

T ST R |

#re o T e &t dEmar ¥ wE IW H T3
i |

He:
(a) ad (b) Thaet 2

(c) 1 3 2 i (d) Fa 1982
WG, S it fRm e & g=d §
Ffafaa # @ -1/ s adi 23 7

1. I8 ST Usg & I 9T A fRm § |

2. @A dH. A Tl g s R

e fow T e & Wl s g |

Fe:

(a) o 1 (b) Faa 2

(c) 1 3ft 2 3t (d) 1782

TEHYSH H ThIY % THR 1 HOT 2
a) FTEA-2TE - TS o
(b) Y& =T
(c) Eiferm
(d) ST |y

Fefofen § & -2 smam /afify 9 et
TN ¥ Iriewr uftwe & e &6 T 7
(a) I8T 3

(b) T=waR Ty

(c) 3Tt wfyfy

(d) TR st
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27.

20.

30.

31.

32.

33.

. ‘Statue of Peace’ is situated in which

Which one of the following pairs is NOT
correctly matched ?

(a) Vitamin-A - Orangc

(b) Vitamin-C - Lemon .

(c) Vitamin-D - Cod liver oil

(d) Vitamin-BG — Rice bran

State of India ?

(@) Madhya Pradesh
(b) Rajasthan

(c) Gujarat

(d) Himachal Pradesh

PM VANI Yojna is related with

(a) Censorship in Print and Digital
Media

(b) Development of Lok Sangeet

(c) Audio-Visual Release of Lok Sabha

(d) Availability of Wi-fi in Public places

The symbol ‘ECOMARC’ is related to
which of the following ?

(a) Goods of best quality

(b) Safe goods for environment
(c) Exported goods

(d) Imported goods

Under the Constitution of India which

of the following is NOT a Fundamental

Duty ?

(a) To vote in General Election _

(b) To develop the scientific temper

(c) To safeguard public property

(d) To abide by the Constitution and
respect its ideas

The Nobel Peace Prize, 2020 was awarded
to which of the following organisations ?

(a) World Food Programme

(b) United Nations Develo;_:mept Programme
(c) World Health Organisation

(d) World Bank

Which one of the following is NOT

correctly matched ?
(Ruler)

(a) Rana Hamir ~wMewar

(b) Rana Chunda - Marwar

(c) Malik Raja Faroogi - Khandesh

(d) Malik Sarwar - Malwa
Khwaja Jahan

(Btate)

SMRN-1 - 21
27. ﬁw%f@aﬁéaﬁq—mwaé’rgﬁ%aﬁ_%_?
(a) feriA-A — "
(b) ferfim-c _
(c) ferftm-D — H1E ABel H AA
(d) fereiftm-B, — G 1 =
28. WY 3t ' vwa ¥ P ueg § oafeE R 7
[OEEE:T
(b) TerEa™
(c) TR
(d) fewmaar wem
20, gy amft Ay w1 T 2
(@) T aen fefrea Hifsan & S=aalRmg &
(b) ¥ Gifia & e |
(c) THET % T4 FER H
(d) WS T T FE-TE <hl IqTedl &
30. FHMRs (ECOMARC) Wdis fi=fafaa & &
frdaetaa e 7
(a) TaT urEsT =t G @
(b) TataRer % fore gefdre ammft &
(c) Traifer wmaft 9
(d) menfera wmf |
31. W Gleam & armia Frefefas & @ S-a1
A w7
(@) 3™ FATEI | HaEH
(b) SR gfeshior &Y sra =1 frerg
(c) W wwafv =t gean
(d) Efeem =1 o qen s ST w5 T
32, A& wifd g, 20 § 3 f¥g
—SE TR ?
(a) Rrva @ wr
) Ee e o en
(d) fawa ¥
33, Fraferfad § & PR-W1 @ vl g v 2
(e (Tr)
CIRGUR LI - fare
(b) T HUeT - WRETS
(c) wferer T wrEeht - Ry
(d) T TR @ Rl - Ao
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34.

35.

36.

37.

38.

‘The C is Ticking’ i >
which of the Tolipwnty Jen theme of
(a) International Yoga Day, 2021

(b) International Women's Day, 2021
(c) World Tuberculosis Day, 2021

(d) World Malaria Day, 2021

Which of the following Constitution
Amendment Acts made nccessary

provisions for the implementation of GST
(Goods and Service Tax) regime ?

(a) 1015t Amendment Act
(b) 102" Amendment Act
(c) 103" Amendment Act
(d) 104%™ Amendment Act

Foreign Minister of a country, Anthony
Blinken had visited two days to India for
strengthening co-operation on July 27
and 28 in 2021. He belongs to which of
the following countries ? .

(a) United Kingdom

(b) United States of America
(c) France

(d) Australia

Consider the following events and arrange
them into chronological order :

I. Sharda Act

II. Nehru Report

III. Constitution of Simon Commission
IV. Dandi March

Select the correct answer using the codes
given below.

Codes :

(a) 1L, II, I and IV
(b) 1, II, III and IV
(c) IV, III, Il and I
(d) I, IV, Il and 111

‘Blue baby syndrome’ is due to the
presence of which of the following in the
blood ?

(a) Haemoglobin
(b) Methemoglobin
(c) Lead

(d) Nitrate

-7-

" SMRN-1 -21

34, ‘g i o e Frerfied @ fr g

rUH e ¢

o) st Am femm, 2021
(b) it wfeen feaa, 2021
(c) fera €t femm, 2021

(d) forva wafen fgam, 2021

35. fmfafiad d & SW-a1 afgum gamea st

Sftog A, (e e dan w) Frem % wEed
% ?

(a) 101 @ Teitem HAfafay

(b) 102 af Eenga arfufram

(c) 103 af "eiua sfufrm

(d) 104 af wenew sfufam

36. 27 U4 28 I8, 2021 I U 9 & Ty o=
"I Tt 1 WRd  H1Y HgarT ! Aigd
T h 170 WA ! ol feadig g =i oft | =8

37.ﬁn%&gaamaﬁmﬁanﬁﬁqamm
Wmm@aﬁﬁg

EIE|
F2:
(@) I, 11, T qemr v .
(b) I, 11, 111 gery v
() IV, TII, 11 ey
(d) L, v, 11 7oy 11

= Wgﬁﬁ%ﬁ%mm%m
-—(W?
(b)
(c) T
(d) T3

feu e pe & Wt 3o B v A
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39.

40.

41.

42.

43.

Given below are two statements one is
labelled as Assertion (A) and other as
Reason (R) :

Assertion (A) : The government faces
a tough time tackling the bottleneck
inflation.

Reason (R) : The situation is due to
deficiencies existing in the economy

such as supply bottleneck and inefficient
distribution,

Select the correct answer from the codes
given below.

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of {A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

Which of the following is indicator of air
pollution ?

(a) Puffballs (b) Algae
(c) Lichen (d) Moss

Consider the formation of following States
and arrange these in chronological order :

I. Goa

II. Telangana
III. Jharkhand
IV. Haryana

Select the correct answer from the codes
given below.

Codes :
(@) 1, II, III, IV (b) IV, I, III, II
()L, 1L, IV, T (d) IV, III, I, II

The name of the foreign journalist who

reported about Satyagraha at Dharsana
salt works was

(a) Francis Louis (b) Mark Tully
(c) Web Miller (d) Philip Sprat

‘World Ozone Day’ is celebrated on
(a) 25th December (b) 218t Apy)

(c) 16th September (d) 30th J&nuary

SMRN-1 - 21

39. 1% 3 wer Ry u ¥, Rl & © I A (4)
31 a1 N (R) FE1 TR
ST (A) : BT H HEeg GEEH & Fey
3 foru s T =1 AT FHE IS 2 |
FA (R) : 7 feufy srefegaean # amyfd 3=
A 31 frqwor S8 S7TE! o HRT B @ |
I R e & wé I F 777 AT |
FT:
(a) (A) 3t (R) SFT ¥ & @1 (R), (A) A
& AT H
(b) (A) 3R (R) 31 7 €, T4 (R), (A) I
T =TT T w8
() (A) 7 B, g (R) Tea 8
(d) (A) T B, fohg (R) §ea @

40, frmferfl & | SH-T1 &g TG H FIF R 7

(@) THETCH (b) fard
(c) g (d) =/|
41. Fefafen o=t % M W = Fifm gar 52

FHTTIRT | safed $Hifd

—T R _-
I1. ST
11, Evs
V. g
gﬁ@waﬁrm%aamawﬂm |

@1 I, U, IV (b) IV, I, II, 11
UL IL IV, T (@) Iv, 0L, 1, 11

42, 3% Torceft o 1 T A R v A

Wﬁm%a&ﬁwm
) FREgE () " geh
(c) ¥® firew (d) Refere B

43, ‘fvm oot e’ wwmar smar &
(@) 25| (b) 21 ardewr =t
() 16 R | (d) 30 st =t
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46.

45.

44, With reference to ‘birth rate’ which of the

following statement(s) is /are correct
1. Urbanization helps in reducing the
birth rate.

2. High literacy rate is directly related
to low birth rate.

Select the correct answer using the codes
given below.

Codes :

(a) Only 1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to the ‘Uttar Pradesh
Population Control, Stabilisation
and Welfare’ Bill, 2021 which of the
following(s) is/are correct ? .

1. This Bill aims to bring the birth
rate down to 2.1 per thousands
population by 2026.

2. At present, the fertility rate in the
State is 2.7 per thousand..... ..

Select the correct answer using the codes
given below.

Codes :

(a) Only 1

(b) Only 2

(c) Both 1 and 2
(d) Neither 1 nor 2

Which one of the following is NOT
correctly matched ?

(Provisions) (Sources)
(a) Fundamental Rights - USA
(b) Directive Principles of
State Policy - Ireland
(c) Residual Powers of
Center - Australia
(d) Emergency powers - Germany

9.

44,

45.

46.

SMRN-1 - 21

w%/ﬂ%mm? SeTEt Y HA A § TEEE B |

;:ﬁmmamﬁmmﬁzﬁm
e B |

@Z:

(a)

(b) hare 2

() 13ﬂ12aﬁ

(@@ 1AL 2

AU, 2021 % o & F-w/§ T T

B/8 1
1@%'&1’[3’2@ 2026 TF FH W &
0.1 Wi BT THEEHT G HF HT & |

o, SR # T WA & 2.7 Wi TR 2 |
I Ry ™ F @ T IR IAC

Fe:

(a) aw

(b) e 2

(c) 1 3R 2 =i

dIA1I& 2

frafefen & & F-m ww Iw W@ gk
TR

(STaEm) (&)
(a) Wfeen atftrw - TYF TS
IR

(b) T % s e T - s
(c) g Y srafite widmat - SRR
(d) ST W - g
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47. Match List - I with List — I and se_lect
the correct answer using the codes given
below the lists.

List - I
(Mineral
Exploration
Agencies)

Oil and Natural
Gas Commission
. Mineral
Exploration
Corporation Ltd.
. National Mineral 3. Nagpur
Development
Corporation
National
Aluminium
Company Limited
Codes :
A
(@) 4
(b) 1
(c) 4
(d) 2

List - II
(Headquarters)

1. Bhubaneswar

2. Hyderabad

D. 4. New Delhi

WwwhN |
— =W g

48. With reference to the G-7 Summit held
in June 2021, which of the following
statements is/are correct ?

1. United Kingdom was the Chair of
the Summit.” R

2. Brazil was invited to the Summit as
a guest country.

Select the correct answer using the codes
given below.

Codes :
(@) Only 1
(c) Both 1 and 2

(b) Only 2
(d) Neither 1 nor 2

49, The Public Accounts Committee of Indian

Parliament scrutinizes the
(a) Report of the Comptroller and
Auditor General

(b) Consolidated Fund of India
(c) Public Account of India
(d) Contingency Fund of India

ich one of the following is known as
50. m leration stage in the urbanization

rve
f:)l First stage

(b) Second stage

Fourth stage

oMKN-1 - 21
47. g - 1P g - 11 @ gAfera whiforg o it

o i+ feu e e @ wE I FAT

g -1 et - 11
(@t arraur (gearea)
arfereRToT)

A. d@ g WTfae 74 1. FAT
I

B. @fiet ey fmm 2. BEET
fafies

C. U wfst feremmd 3. Mg
Fom

D. T Tyt 4. 7% et
Froft fafies

e ,
A B CD

@4 2 3 1

b1 2 4 3

4 3 2 1

@2 3 4 1

48. S 2021 7 3rnfa G-7 Rrgt geier & gy
T FrfeiRad § @ SH-91/8 %27 981 8/8 7

1. Frses foren s frat antem =
3T o |

2. St Y Ay 2w % w9 F Rt aew
¥ Ity foman o |
A e e e & wd s ghn )
EW (b) aet 2
(c) 1 3 2 2t (d) I 1382
49, WA T8 A w1 Ty iy weien e 2
(a) e = weTeTEn wlters & whagey
(b) W st wivra ffy Y
() WA % Sk win Y
(d) W <t SRR fafy
50, f=fafes 4 @ fre

EUtiETY| '
HIEYT gl AT & ? 6 1 =
() S Srereen (b) e sraeen

=10-
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51,

52.

53.

54.

95.

S6.

At which place did Raja Ranjit Singh set
up the Adalat-i-Ala ?

(a) Amritsar (b) Lahore

(c) Firozpur (d) Multan

As per SDG India Index and Dashboard
2020-21 published by the NITI Aayog,
which one of the following States was
NOT among the top five States in their
performance regarding SDGs in the
country ?
(a) Gujarat
(c) Goa

(b) Andhra Pradesh
(d) Tamil Nadu

With reference to Socotra Island, which of
the following statement/s is/are correct ?

1. It is an Island of Oman, situated in
the Arabian Sea.

2. It was designated as a world natural
heritage site by UNESCO in 2008.
Select the correct answer using the codes
given below.

Codes :

(a) Only 1 (b} Only 2
(c) Both 1 and 2 (d) Neither 1 nor 2

Which of the following is NOT the eligibility

criterion before filling registration/

application forms for Uttar Pradesh

Mukhya Mantri Swarojgar Yojna 2021 ?

(a) Age group from 18-40 years

(b) Minimum high school pass certificate

(c) Should not registered in any Central
Government or State Government
Swarojgar Yojna

(d) Citizen from any State of India

Which of the following Bills can NOT be
first introduced in Rajya Sabha ?

(a) Ordinary Bill

(b) Constitutional Amendment Bill
(c) State Re-organisation Bill

(d) Money Bill

“Zero Hour’ in the working of the Indian

Parliament means

(a) The first hour of the Session

(b) When privilege motion are accepted

(c) Hour before question hour

(d) The time immediately following the
question hour
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51. wﬁﬁﬁﬁs??ﬂ@mmmﬁ—q—m

(a) (b) STER
(c) (d) Hetar

52, ffy s g wwfe wm.ds sfem Rew
wvg 9IS 2020-21 % FER Fefafea § @
FH-a1 T E. 9 S, gt e wewE §
<31 & it uig usgl § afefaa @i ?

(a) T (b) T4 e
(c) T (d) aftrerTg

53. Wit g9 & dedl # Prfafae § @ FH-a1/3
%9 gel 8/8 ¢

1. I8 M I TH Y & 31 3 TR fEra 2 |

2. T8 2008 A FIwh! g1 forva wrepfaes fatad
T % B9 | A0 foRan T o |

= fw e e | wE sw g |

% :

(a) Faa 1 (b) FaeT 2

(c) 1 3R 2 =t (d) I 1T 2

54. I YW TR TSR gisE 2021 F foe
U101/ 3Teed 99 W @ qd fefafed § 9
-1 AT 6T WIS T & 7
(a) 37 = 18-40 9§

(b) RFTH BTE TS TTH THIOTGS
() Treft sl T a1 v TR TR
AT H Usitpa TE B SR
{d) ¥a & foeft o o5 % A

55. Fetforiaa § & s - i s
Sreierd e foan s wea & 7 AR
(a) Trarr fades
(b) wifenfrer i s
(c) U7 gta fydgs
(d) v fadrrs

56. MU %7e 1 e § ‘Tt ety v 2
() & 71 e wey

(b) St faﬁlﬂllﬁwmmﬁmg
(©) %7 1 & o o ey
(d’mm’ﬁ%mmm
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57.

58.

S59.

60.

61.

62.

Which one of the following pairs is NOT
correctly matched ?

(Tirthankar) (Nirvan Place)
(a) Rishabhanath - Ashtapad

(b) Vasupujya — Sammedashikhar
(c) Neminath - Urjayanta
(d) Mahavira — Pavapuri

Who among the following has been
appointed as first Women Treasury
Secretary in United States of America ?

(a) Lyoyd Austin

(b) Janet Yellen

(c) Merrick Gardand
(d) Tullipan

Consider the following and arrange these
in chronological order :

I. Golak Nath Case
II. Keshawanand Bharti Case
III. 24t Constitution Amendment Act
IV. 4204 Constitution Amendment Act

Select the correct answer from the codes
given below.

Codes :
(@) I, III, II, IV
() IIL, L, I, IV

(b) 1, I, III, IV
(d) 10, 1, 1V, I

Which of the following newspapers
won the ‘Pulitzer Prize, 2021’ in the
prestigious public service category ?

(a) The Wall Street Journal

(b) The New York Times

(c) The Washington Post

(d) New York Post

Which of the following is the largest
lagoon lake situated on the east coast
of India ?

(a) Pulicat
(c) Kulleru

(b) Chilka
(d) Kilivali
i i aval Ship partici _
‘Eﬁgfg;? c(i‘jﬁﬁargss l?):lcpregs{J 2r(§‘2°ipgted in
(a) INS Vikrant
(b) INS Magar
(c) INS Talwar
(d) INS vikramaditya
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57. Wﬁaaﬁh-mqmwww
? =
(thefem) (Frafor wor@)
(a) FHEY - Mg
(b) ST - HEGRET
(c) AP - g
(d) wETEi - gEgh
. frafafa § & feet sgaa T=a IR |
o e Yo Ahedl o &4 A (g (5
™ ® 7
(a) TS ATfEeA
(b) I Ao
CRLERIE:
(d) ST
. Preff R Hife qu1 37! 98 Hess
H syafee il
1. MEHY T
I1. HIEF< IR 915

I11. 24 i Sfqurs genya arfafyag

IV. 42 =t gfaum g aafufaag
= o e & Wt 9 w1 =TTA hif |
Fe:

(a) I, III, 11, IV
(c) 1L, I, I, IV

“(b) I, 10, 100, TV
(d) I, I, IV, II

. PrefoRen wmemet 3 @ e wife O

Aot F ‘gferesr g, 2021 AT g 2
(a) g aTd ®ie T T

(b) T =R <R
(c) & =fiTren Wre
(d) =T 9
. ﬁ%@aﬁﬁw%@m
SNSRIk e:in N
(a) Jeftee (b) fres
(c) gere (d) Preftie

62. Hhei Tle, 2021 anvamg 3 iRy Sy 3
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'63.

64.

65.

66.

67.

68.

69.

Nfitrogen is NOT an essential constituents
o

(a) Chlorophyll

Sk (b) RNA

(d) Carbohydrate

Whic}_l of the following words is NOT
mentl_oned in the Preamble of the
Constitution of India ?

(a) Sovereign (b) Democratic

(c) Secular (d) Federal

The book ‘Fawaid ul Fawad’ is the
record of the conversations of Shaikh
Nizamuddin Auliya, it was compiled by
(a) Amir Hassan Sizzi

(b) Amir Khusro

(¢) Ziauddin Barni

(d) Hasan Nizami

In which of the following years, the
Environment (Protection)Act passed by
the Government of India ?

(a) 1982 (b) 1986 .

(c) 1990 (d) 1992

Which among the following is NOT a
major factors of economic growth ?

(a) Accumulation of capital and
reforms in technology

(b) Change in population

(c) Division of labour in specialised
activities

(d) Technocrats and Bureaucrats

‘Ringelmann scale’ is used to measure

density of

(a) Smoke (b) Polluted water

(c) Fog (d) Noise

In the contexts of Indian history, which of
the following statement/s is/are correct
regarding Vaikom Satyagraha.?. .

1. It was a satyagraha againsts
untouchability and caste
discrimination,

2 Mahatma Gandhi participated in
this Satyagraha.

Select the correct answer using the codes

given below.
Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

63

64,

65.

66.

67.

68.

69.
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. eI TR AR 3T T
(a) FeNOfRE A (b) M. @ w. 5
()& . T H  (d) FEEEE w
frferfiaa § ¥ FH-T1 %2 IR i
(a) FEAT (b) Ehmm
(c) qofatae (d) ==

(b) amfic g&d 3

(c) Rrmeda wft A

(d) ga= Fremdt 3

Prffad # @ forg ad o YRa TR g1 g@fam
(afteeror) srfufm arita Teman T ?

(a) 1982 (b) 1986

(c) 1990 (d) 1992

frafafea & @ FF-T1 anffs fawm =1 yq@

FRHTE S 7

() Tt 1 w=rg wd et gun

(b) SEET § giads

(c) Toreftera ot /el & s foprem

‘ 1 T’ W frefafaa § @ Rees
7

A

WA 3feveTe 3 g & FrEy

A Freifen et o & -/ v 23 ¢

L. T8 SRywran st sfima Wewra ¥ freg
QT’HWH‘Q'QU |

2. VIETCHY i) 3 5 reerg & w7 fovam o |

ﬁﬁﬁmﬁwmwaﬁmgﬁm
%2

(a]?ﬁm (b) had 2

(€)1 3t 2 3 (d TR 1T 2
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o ~ber exhibit | 70. ¥t RS 1 e vgRor € Her sfter & 2,
70. Fruits stored in a c.luld :11112‘ iR

longer storage life, becati>> .. ) .

(a) Exposure to sunlight 18 [)ILVLHl(,(_I (a) H:d ¥ werrel 1 T T ﬁ?ﬂ 2

73.

74.

75.

76.

> ; -~y in environment
(b) Concentrationof € 0, mecl

i1s increascd 4
(c) Rate of respiration 18,
(d) There is an increcasc 11

ccreased
humidity

. Who originally propounded the theory of

three stages of social development ?
(a) Karl Marx (b) Talcott Parsons

(c) Herbert Spencer (d) Auguste Comte

Which of the following particles has zero
charge ?

(a) Positron
(c) Electron

(b) Neutrino
(d) o-particle

In February 2021, Ngozi Okonjo Iweala
was appointed as the first woman Director
General of World Trade Organisation.
She belongs to which of the following
countries ?
(a) Nigeria (b) South Africa

(c) Kenya (d) Ethiopia

Which of the following is NOT correctly
matched ?

Institute - Location
(a) International Centre - Nairobi
for Research on
Agro-Forestry
(b) Indian Institute of — Bhopal
Forest Management
(c) Central Agro-Forestry - Banda
Research Institute
(d) Tata Energy Research - New Delhi

Institute

In which yca.ir' the book ‘Poverty and
Unbritish Rule in India’ was published ?
(a) 1900 A.D. (b) 1901 A.D,
(c) 1902 A.D. (d) 1903 A.D.

Who among the followinp
Chairman of the Firstglgizégg
Commission of India ?

(a) Shri. Santhanam
(b) Shri. K. C. Neogy
(c) Dr. Raj Mannar
(d) Shri. A. K. Chanda

71

72

73

74.

75,

76,

-14.

(b) ararEw # "t CO,, Az
(c) YaE &t 1 B

(d) ATAT T s

AT R ) i et & Egr e
foe sfefed fem o 7

(a) TTet T (b) ZTErhie TE

(c) g = (d) HATTE I
frrferfier 3 & Frg T T I A BT @ 7
(a) isfigr (b) =afgt

OESEME! (d) STeHI-H0T

waht 2021 T TS 3RS gl i favd SHR
T W UYd_Hieell Helews & 9 H gH
Torart Tran 2 | g i Prfiafiaa & & bl T
dR2 ‘

(a) ATSSITET (b) gféror 3rshient
(c) <t (d) seifn

Frefifin # & F-a1 gw @ gk
TR 7

Heum Frareafa
(a) ST wR-ThE - e
FFHUH 75
(b) TR o Yoy R — iy
(c) Ff TR -arh _ gty
IIHYH T

‘qradf E '
ﬁﬁg—gmﬁé?&%
a) 1900 3, b

(c) 1902 %, {d; }ggé i‘:

fraferfen o @ o5 S
Ny o7 7 T E Eﬁ\\m
(a) &t "yrm

(b) 2. . =, fraefy

(c) E1. U9 7=

{d) 1. @ &, 9=y
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78.

79.

80.
81.

82.

83.

After cutting cucumber if salt is added
then water comes out due to ’

(a) Active transport
(b) Passive transport
(c) Osmosis

(d) Diffusion

Which of t i ite i
NOT situatt};c? iiflll.lt)tg? %rlig(rar;sﬁa; site is
(a) Sur Sarovar

(b) Samaspur Bird Sanctuary

(c) Sansai Nawar Jheetl

(d) Surinsar-Mansar Lakes

Site of gaseous exchange in lungs is

(a) Tracheoles (b) Bronchioles

(c) Pulmonary vein (d) Alveoli

Which one of the following is NOT an
element of rural community ?

(@) We-feeling (b) Cultural diversity
(c) Territory  (d) Self-sufficiency
Tapa cloth is obtained from the plants
of which one of the following family ?
(a) Asclepiadaceae (b) Moraceae

(c) Graminae (d) Malvaceae

Which one of the following Acts of

British India strengthened the Viceroy’s
authority over his executive council by
substituting ‘portfolio’ or ‘departmental’
system for corporate functioning ?

(a) Indian Council Act, 1861

(b) Government of India Act, 1858

(c) Indian Council Act, 1892

(d) Indian Council Act, 1909

Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) : )
Assertion (A) : Various components of
an ecosystem are not mt.er'd'ependent.
Reason (R) : Human aCtIV;lttl:CS have the
i s on the environment.

gzliigthe correct answer using the codes

given below. |
g:))%?tﬁ (A) and (R) are true and (R) is
correct explanation 0
(b) Both (A) and (R &eF, 0 or (A
o correctbel;:tp (R) is false

(c) (A) is true, (R) is true

(d) (A) is false, but

.18-
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83.
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Afe 0 ST 1T 7, @t fe o
gﬁﬁgﬁeﬁﬁqﬁﬁﬁwé ?

(d) SR :
P 1 - T I SIS g

TEe

(a) G AU

(b) T Gef1 SRR

(c)méwgﬁa .

(d) gﬂm—-ﬂﬂﬂ?%ﬂﬁ

et # frefra frfor 1 v 2

(a) ¢fpae@ (D) e TeH

(c) vemid fRrd (d) sfeaaran
ﬁﬂgﬁﬁaﬁ % @ -1 gnfiv §gE F
TR ? ]

(a) B9 I WTET (b) |rEepfaes fafawa
{c) & {d) e

fr=fafea § & fora oo & W19 @ o F9=1
T SR ?

(a) Tfereliuedt (b) TRE

(c) Frefit (d)

forfew sfvea & frafafaa & @ feg affEm 3
|1y mﬁmm%gﬂm‘%um’m‘ﬁwggg
TgId g0 9T 6 HEERl give 1w
IR & 3R 31ftres 591 Tem R 2

(a) W gfteg srfufem, 1861

(b) WA TR rferfay, 1858

(c) W gityg srfufrm, 1892

(d) el uftwg srfafem, 1900

e 3y e fow B, For A v = iR (A
3 @l BT (R) et TR W
R (A): 7 % fafy s
I9H | T g W koA § )

gﬂm"'%(lll) A fhet | araraor wanfag

g'ﬁqmﬁﬁmmwww,

(@) (A) 3 (R) A e 3

-+ L
(R) <M wey §,

S .W%%(RJ,(A)@:

(© ‘A‘m?,%(mm%
(@) (A) e 2, o () e 3
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84,

85.

86.

87.

Which of the following Schemes in Uttar

Pradesh were introduced 1n Budget of

2021-227

I. Atmanirbhar Krishak Samanvit

Vikas Yojna

II. Mukhya Mantri Saksham Suposhan
Yojna

III. Mukhya Mantri Pravasi Shramik
Udhyamita Vikas Yojna

IV. Yuva Udhyamita Vikas Abhiyan

Select the correct answer from the codes

given below.

Codes :

(a) I, I and III (b) II, IIl and IV

() I, Il and IV (d) 1, IIT and IV

Which of the following is NOT correctly
matched ?

(&) Hundru Waterfall - %\_Abamarekha
iver
(b) Chachai Waterfall - Bihad River
(c) Dhuandhar - Narmada
Waterfall River
(d) Budha Ghagh - Kanchi River
Waterfall

Which of the following is NOT correctly
matched ?

(a) Acid present in - Acetic acid
vinegar
(b) Compound present - Calcium
in bones phosphate
(c) Souring of milk - Nitric acid
(d) Acid present in - Hydrochloric
gastric juice acid

Match List — I with List — Il and select
the correct answer using the codes given
below the lists.

List - I List - II
(Volcanic (Country)
Mountains)

A. Mount Rainier 1, Italy

B. Mount Etna 2. Mexico

C. Mount Pericutine 3. Philippines

D. Mount Apo 4. U.S.A.
Codes :
A B C g
a)4 2 1
{b;d, 1 2 3
@2 1 %3
@4 8 2

84.

85.

86.

87.
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Rrerfrfaa 3 @ H-dt Aoand I TN 3 T9e
2021 -221 HTER 7

L. amreafnfc puek gafm fopma AT

1. it ware g A5
L. gt yaret gftes Fafi fepm 2
iV, gan 3afien frrm shimm

A fow 1 e A w3 A T A
Fe:

(@) I, I1 T& III (b) 11, 11l T& IV
(c) I, 1 Td IV (d) I, NI @& IV
fr=fafaa @ PR-m g gufea a€i 2 7
(a) §ve® SuTd - gauitEr 74

(b) =r=Tg ST - degd

(c) YNUR U@ - W& T

(d) q@EE YT - widl A

 Freafian 3 & #-m w it @ € 0

(a)ﬁmﬁsﬁmm tﬁﬁﬁmm
(b) Tt # sufedm Afim - Hw
BT
(c) g4 =1 &g & - T s
(d) 3T W A IRE - TR
I

S|
T - 1l g - 11§ gofad S qon giaat

% = A e @ wdt I g |
et - 1 T - 11
(At ada) (@)
A. HI¥WE I 1. e
B. HIZUE QA1 2. AfFaa
C. R 3. frcfioe=
D. W3vE Wil 4. YUH T,
e ;
A B CD
@4 2 1 3
)4 1 2 3
2 1 4 3
d4 3 2 1
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88.

89.

90.

91.
92.

93.

94,

Which one of the following is the main

constituent of LPG ?
(a) Hexane (b) Pentane
(c) Butane

(d) Methane

Which one of the following rivers is NOT
the part of Indian Ganga river basin ?

(a) Punpun river
(c) Jalangi river

(b) Ajoy river
(d) Jonk river

The blood glucose level is
expressed as

(a) MM of Hg

(b) Milligram per decilitre
(c) Parts per million

(d) Gram per litre

commonly

The ‘Saras Ajeevika Mela - 2021’ was
organised in which of the following city ?

(a) Patna
(c) Lucknow

(b) Raipur
(d) Noida

Nobi and Kanto plains are located in
which of the following countries ?

(a) North Korea  (b) South Korea
(c) Japan (d) China

India climate change knowledge portal’
was launched in which of the following
months of 2020 ?

(a) November, 2020
(b) December, 2020
(c) September, 2020
(d) October, 2020

Ministry of Culture, Government of India
as part of Azadi ka Amrit Mahotsav
celebrated the birth anniversary of
Saheed Ram Prasad Bismil in June,
2021 at which one of the following places
in Uttar Pradesh ?

(a) Chauri Chaura

(b) Shahjahanpur

(c) Rampur

(d) Ballia
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88.

89.

90.

91,

92,

93.

94.

(d) 7 sfe frex & w9 A

T TSN Al — 2021 1 S
Tefeaa # @ fohd WET A {ohdT 4T o 7
(@) T (b) TAL
(c) TTETS (d) rTer

Areft 3R =t fem Frefefes 3 & fre o

fRmE?
() I HifeEr (b) afaror A
(d) =

(c) ST9™
T FTEe S AeS e H ey
2020 % T =faRag § o fvg Eﬁﬁ
™ o7 7

(a) 7%=, 2020

(b) féw=, 2020

(c) R, 2020 3

(d) R, 2020 F

T T
TRIeEq %
N

A ¥ frg

%ﬁﬁ?ﬁﬁ"ﬂmﬁmw
T ST w9 H G, 2007 8
ﬁ‘ﬁmﬁaﬁ?ﬁmﬁ 2021 % g
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95.

96.

97.

98.

rding to the Union Budget 2021 - 22,

‘Asiatic
Who was the founder of the As

Society of Bengal’ ?
(a) Jonathan Duncan
(b) Sir William Jones
(c) Warren Hastings
(d) William Bentinck

With reference to ‘NET - ZERO’ goal for

2050, which of the following statements

is/are correct ? )

1. It means that a country will bring
down its emissions to zero by 2050.

2. It means that a country’s emissions
will be compensated by absorption
and removal of green house gases
from the atmosphere.

Select the correct answer using the codes

given below.

Codes : o

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2

Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) :

Assertion (A) : The Council of Ministers
in India is collectively responsible to both
Lok Sabha and Rajya Sabha.

Reason (R) : Members of both Lok Sabha
and Rajya Sabha are eligible to become
Ministers in Union Government.,

Select the correct answer using the codes

given below.

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

Finance Minister proposed a new
levy Agriculture Infrastructure ang
Development Cess, This cess will be
levied on how many products ?

(b) 20
:2; ;g (d) 29

.18-
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“r FTET [EUTIh
95, “ufrrfes g aTh STE 1 TS

R o ?

(a) ST SRt

(b) T farferm ==
(c) an BfeeE

(d) ferferam @ifder

96. 2050 % fory -’ T % e H

~FrefatEd § @ #H-491/8 %94 92 a/8 7
1. sae iy & £ 3w ) 2050 TF IEEH
IeSH ) A % A A B
2. v s # fon fRelt 27 3 eEed
& arfegf ararae & i grem G B
Fortrertor g sraeior § 2R
i fow T e & FE IR F1 =TT HIC |
Fe:
(b) had 2

(c) 13 2 gt CEIDEN

e 1 e feu e &, Rorad | w5 Afiee (A)
3 GER I HR (R) HeT 7T 2 :

Ffterer (A) @ e § W= oftg amfes w9 9
ARAT AT TTANT SHT &% UFT ITReR 2 |
HROT (R) : AHA 3N TS99 241 F gy

- FE R Tt w9 ) arEar v

A fou T e @ @ I 9w Fifve
e

{@) (A) 31 (R) It 7w § 3 (R), (A) 1w

SRAT AT &

(b) (A4) 3 (R) 3t wewr &, forg (R), (A) 6
Tl =TT TE e

(c) (A) e B, g (R) Torar @

(d) (A) e R, fAeg (R) wew @

98._}%@@2 2021 -22%3@“%&3@

kIR T ey
1ok & 1 g 3 o el e s 7
(c) 25 (d) 29
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99. A member of State i i

Commission may be rerlfll;\?talélcb? crviee

(a) The Governor on the basis of
impeachment in Vidhan Sabha

(b) The Governor, after the enqui
conducted by the Supreme Court

(c) The President, after the enqui
conducted by the Supreme Court

(d) The Governor, after the enquiry
conducted by the High Court

- 100. Which of the following countries is NOT
located on the bank of the Black Sea ?
(a) Syria

(b) Turkey

(c) Georgia

(d) Bulgaria

101. Arrange the following foreign travelers
in chronological order of their arrival in
India :

I. William Hawkins
II. Ralph Fitch
III. Sir Thomas Roe
IV. Nicholas Dawnton

Select the correct answer using the codes
given below.

Codes :

(a) II, I, IV and III
(b) IV, II, I and III
(c) I, I, Il and IV
(d) IIL, I, IV and I

102. With reference to the ‘Capital formation’

which of the statements is/are correct ?

1. Process of capital formation depends
on savings and effectiveness of
financial institutions,

2, Investment is the essential factor of
capital formation,

Select the correct answer using the codes

given below.

Codes :

(a) Only 1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

SMRN-1 - 21

99, e e AT ST o HEE i &2l S

HeFell &
(@) Ry @ A AT o STER G A

LY .
(b)mmﬁm%mm
Fy
(c) T e 6 itel 3 T Tt &
(d) T =TT <l ST 2 g, TSAIe E

Arffad § @ HH-T1 277 FHIAl TR & G2 T
feaadie ?

{a) Hifan

(b) Zeht

(c)Gﬁﬁfiﬂ

(d) gemhen

101, Fr=rfaftaa faesft @l =6 39 9’d 31 &

100.

_PICSHHTER Safedd Hi :
1. faferem grfenm

1. T feer

I, W 4wy

v. f=iew g™

A T e g2 @ T R = D
Fe:

(@) IT, I, IV e 311

(b) IV, II, T &2 31

(c) I III, 11 qoy v

(d) I, 11, IV @eq

102, ‘§ » :
g T
1'@%ﬁmmaﬁtﬁ;ﬁq
. o st e ke e R
ﬁ&qtﬁﬁ%%%ﬁ@@ﬁaﬁmh
®e Wﬁﬁwwﬁﬁql
(a) ey g
(b) ¥
(©) 1 3k o
(d)qa}ligﬁg
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103.

104.

105.

106.

107.

108.

Match List - I with List - 1 and select
the correct answer using the codes given
below the lists.

List - I
(Biosphere)

A. Similipal
B. Pachmarhi
C. Nandadevi
D. Nokrek

List - II
(Location)

Uttarakhand
Meghalaya
Madhya Pradesh
Odisha

rPwN

(a)
(b)
()
(d)

HPLOWWLWW
— b= NO

NN =T

Who among the following was NOT an
early member of the Naujawan-Sabha’
formed in 1926 A.D. ?

(a) Bhagat Singh (b) Yaspal
(c) Chhabil Das (d) Ambika Chakravarti

Which of the following is the correct
sequence of the Islands of Indonesia from
West to East ?

(a) Java, Sumatra, Lombok, Bali
(b) Sumatra, Java, Bali, Lombok
(c) Sumatra, Java, Lombok, Bali
(d) Bali, Sumatra, Java, Lombok

Largest saline water lake in India is
(a) Chilka (b) Sambhar
(c) Lonar (d) Wullar

In India the First Municipal Corporation
was set up in which one among the

following places ?
(a) Calcutta (b) Madras
(d) Delhi

(c) Bombay

Which one of the following books written
by Noble Laureate Amartya Sen and
published in July, 2021 ?

(a) Development and Freedom
(b) The Argumentative Indian
(c) Home in the World
(d) The Idea of Justice

SMRN-1 - 21

103, g - 13 geft - 11 & gafera g e it

104.

105.

106.

107.

108.

=-20-

& = fow e g @ w I F T RN |
-1 e - 11
(Stamuzen) (zrafeaf)

A. T 1. IJqOEE

B. 19wl 2. AU

C. Tqredt 3. T W

D. &t 4. anfem

Fe:

A B CD

@ 4 3 2 1

) 4 3 1 2

© 1 3 4 2

d 3 4 1 2

frafafaa § 91926 €. # wisa Deam-gur’

T TR &g 9 T@ o7 ?

(a) wTa &= (b) F=TUTA

(c) Beitet g (d) 3rfrerenT Tshadl

SUSHIRTET % H wE # ufvem @ g fewm Y ik

et Frefafaa g @ Sm-are ?
(a) ST, GATAT, AHsS, ST
(b) AT, STET, W, dAmErEs
(c) HHTAT, SITET, S, Sre
(d) sTedt, gATN, STat, dieE

WA # GR U < ged 99 s @
(a) TereenT W
(c) TR (d) geur

= & & form o w v o wem T P
wuiftE e mm e 2~
() SheTehtl (b) W
CRus (d) fegh

NS TEHR R amed A9 g forfag
frforfea & & wg- :
N IS 9, 2021
(a) ST W Hrew
(b) T ImiHefes sfoeay

(c) 89 ¥ € T
(d) T 3R it g
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109. ‘SENSEX’

is th
Stock Exclianz gopular Index of Bombay

: BSE). It i :
on the }aasa_s of Low )man; ﬁﬁ%s‘éﬁﬁg
companies listed in BSE ?
(a) 20 (b) 30
(c) 25 (d) 10

110. Consider the facts given below :

1. Suku_rnar Sen was the first Chief
Election Commissioner of India.

2. Rama Devi was the first woman
?}g'ef Election Commissioner of
ndia.

Choose the correct answer from the
codes given below.

Codes :

(@) Only 1 is correct

(b) Only 2 is correct

(c) Both 1 and 2 are correct

(d) Both 1 and 2 are incorrect

111. Which among the following districts of

Uttar Pradesh is smallest in terms of
area ?

(a) Hamirpur
(c) Hathras

(b) Hardoi
(d) Hapur

112. Who among the following had performed

the world’s first heart transplant ?
(a) Dr. Venugopal

(b) William Harvey

(c) Christian Bernard

(d) William Betrick

With reference to Mekong river, which of the
following statement/s is/are correct ?

1. Mekong rises in Tibetan Plateau
2. Mekong delta is situated in
Southern Cambodia. '

Select the correct answer using the codes
given below.
Codes :
(a) 1 only

(c) Both 1 and 2

113.

(b) 2 only
(d) Neither 1 nor 2

i itamins is
ich of the follov‘{nr_lg vi
H zglsléfltial for normal vision ?
(b) Riboflavin

i id
(a) Folic ac (d) Retinol

(c) N jacin

21.

SMRN-1 - 21

e (BSE) F1 SERE
Rﬁﬁ.ﬁ. % geftag frat = Fd
B g 7
(b) 30
(d) 10

100, ‘Fdwg’ aﬁiﬂm
eEac IR
wHegft & gaeh! JT
(a) 20
(c) 25

110, = maaﬁmm'ﬁﬁm:
5. ﬁ%mg@ﬁaﬁwrﬂﬁwﬁ” !
0. s Y Teeht Hiten gEa fatea g T
ot oft |

9 R My Fe @ T IWIAT |

e

{a) %ael 1 G 7

(b) %aet 2 TE ®

(c) 1323 TN T
(d) 1 3K 2 <1 Tera ©

111. I vew 1 F=faftaa # @ =-a1 e &a%a

R AT BT ?
(a) THRE (b) €3
(c) ET*E (d) ®1ge

112. {999 %1 vgell ¥¢¥ Y@ g § ) frm
T e 7 —

(2) ST, AT
(b) Taferam &
(c) Tpfeerm s
(d) Fferm IR

gﬁq"wﬁu-eﬁmqm. bkl
(a) e 1
. (b) et 2
(c) 1 3R 2 (@) 91 T8
114, WMy _

Wﬁﬁm
(a)%%

c f#q-@m (b) TEaIwaifye

“ (d) Wi
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115.

116.

117.

118.

119.

one free country
ate clectorates ?
but they

“Can you show me
where there are scpars
... The British element 15 gON¢,
have left mischief behind .
Who among the following sm(j the above
mentioned statement in the Constituent
Assembly debates ?

(a) Somnath Lahiri

(b) Jawaharlal Nehru

(c) Sardar Vallabh Bhai Patel

(d) N. G. Ranga

According to ‘Global Peace Index, 2021’
which o% the following is the most
peaceful region in the world ?

(a) Africa (b) Europe

(c) Australia (d) South America

Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A) : Human body synthesises

all the vitamins required by it.

Reason (R) : Vitamins are essential for

proper growth of the body.

Select the correct answer using the codes

given below.

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

S ya Bharat Abhiyan is associated

(a) Disabled Persons ™
(b) Child Health Care

(c) Women Empowerment
(d) Under Privileged People

With reference to the electric potential,
which of the following statements is/are
correct ? .

1. It is a scalar quantity,

2, It is a vector quantity,

Select the correct answer uging the codes
given below. .

Codes :
Only 1

(b) Only 2
(c) Both 1 and 2

(d) Neither 1 nor 2

-22.

SMRN-1 - 21

115, “aq 31 3w o T 3 fewn ad @
q_mnarﬁg?r(g”r 2 ... 39 1 g5 &, g3
Y wE g | .
Rreffir & 2 frd Iudad 9 H AREYR
Wi % T84 FE 9 7
() TR EfEd)

(b) STaTETEN AEE
(c) HER AW W1§ T
(d) wASf. Tm

“afgereh ife gerepiop, 2021 AR FreAfefan
TG Tava w1 aaa gy & -8 8 7

(a) 3TshTeRT (b) W

(c) FAteferm (d) afr s

1 3w feu e &, R @ w1 1P (A)
37 g@ ! HA (R) e TR

FfRed (A) : 9HE IR 3194 fo7d aavas 94
frerfimt =1 dvemo F Aar 2 |

F0T (R) : YR & 3fua faem & o faafis
31famd B 2 |

= feat T e @ wél I F =wg= Fifd |

F2: .
' (a) (A)W(ngﬂw%aﬂum, (A) 1 G

STEAT <h{dl i
(b) (A) 3R (R) i w&t &, fFg (R), (A) S
LG T B

A TN
(c) (A) ¥ &, (R) e
(d) (A) e B, fAeg (R) T R

118, g WG e grafa 3
(a) fe=am =afwm @
(b) STet TRy Q
(c) Wi TorfRr &

(d) afera s
Frerferfen st 3 )

116.

117.

119, forga favw & et 3
HHA-H1/Q T /3 7
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120. Match List — [ with List — ] and select

the correct answer using th i
below the lists. B e codes giren

List -
(State of India)
A. Tamil Nadu

List - I
(Highest Pealk)

_ 1. Dhupgarh Peal

B. Rajasthan 2. Sara?r%ati Pca?({

C. Nagaland 3. Gurushikhar
Peak

D. Madhya Pradesh 4. Dodda Betta
Peak

Codes :

A B C bD

(@ 3 2 1 4

b) 1 4 3 2

(c) 4 2 3 1

d 4 3 2 1

121. A non-renewable source of energy is
(a) Solar energy  (b) Petroleum
(c) Wind energy (d) Biogas
122. Among the following countries India’s

trade balance surplus is maximum with
which country in 2019-20 ?

(a) USA

(b) China

(c) Japan

(d) United Arab Emirates

123. In which year P.C. Hota Committee on
Civil Services Reforms was constituted ?

(a) 2003 : (b) 2004
(c) 2005 (d) 2006

124. The concept of ‘carbon credit’ originated
from

(a) Earth Summit, Rio-de-Janeiro
(b) Kyoto protocol

(c) Montreal protocol‘ '

(d) G - 8 Summit, Heiligendam

125. With reference to the Satavahana Rulers | 125, #amgs smge) ¥

which of the following statement/s is /are

t{?%‘t;:e Satavahana Kings were the
nurtures of Prakrit language.

2. Public aspect of the arts got
more encouragement during the
Satavahana period.

Select the correct answer using the codes
given below.

Codes : '
(a) Only 1 (b) Both 1 and 2
(c) Only 2 (d) Neither 1 nor 2
A -23.

SMRN-1 - 21
120. Tt _ 11 @ g i e g
20? Iﬁﬁﬁ@ﬁaﬁm%mmql
q-jﬁ_l \b—II
I o T (Eﬁﬁ:ﬁﬁm..
2 S 1.
B. TSET Z.Hm?ﬁgg
e 3. TEfrEt =
S,ﬂm 4, Bre1 Azl A
E T4
A B C D
(a) 3 2 1 4
b 1 4 3 2
c 4 2 3 1
d 4 3 2 1

121, Uk dHIRd Sl &1 | 8

(@)@ FHA  (b) dglfad

CEREE] (d) s
122. 2019-20 # fr=fified <o § & frmd wra =1

SR Y A1 qaiias @12 ?

IEES A

(b) ==

(c) SIHT=

(d) g% 3 i
123. fafaet Tanait § gur g 6.4, S afiufy =17

forg o fpar o ?

(a) 2003 (b) 2004

(c) 2005 (d) 2006
124-@%%2'3ﬁaam3m§§

(a) 319 The, TR-3—SfQ

(b) TR Wrerhie

(c) WIRTw Dot

(@) - 8 wfre, Feften
Tt o frafafaa P
SRR T STt w1y 3 s ) |

Q.Wmﬁw
mﬁfﬂl & T uaT F1 3Ry

gmm?ﬁ“@maﬁﬁﬁm
(@) e .'
(c) ¥t o (b) 13 2

dad1ado
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126. Which of the following types of glass can
cut off ultraviolet rays
(a) Soda glass (b) Pyrex glass
(c) Jena glass (d) Crookes glass

127. Which one of the following pairs is NOT

correctly matched ?

(Name of local  (Places)
winds)
(a) Leveche —~  Spain
(b) Brickfielder - Australia
(c) Black roller - North America
(d) Shamal - Austria
128. Match List - I with List — II and select

the correct answer using the codes given
below the lists.

List -1 List - II ,
(State) (Representation in
Rajya Sabha)
A. Rajasthan ~~ " 17 10 seats
B. Gujarat 2. 7 seats
C. Kamnataka 3. 11 seats
D. Punjab 4. 12 seats
Codes : _
A B C D
(@ 1 3 4 2
(b) 2 3 4 1
¢ 1 2 3 4
(d 4 3 1 2

129. Who among the following Director

won the Oscar Award for the best
motion picture in 2021 for the movie
“Nomadland” ? T

(a) Chloe Zhao

(b) Emerald Fennel

(c) Lee Issac Chung
(d) Thomas Vinterberg

which of the following pair is NOT

130. col’l’ccuy matched ?

(Place) (Tribe)
(a) Alaska = Koryak
(b) Borneo ” - Punan

) Arab pDesert = Ruwala

SMRN-1 - 21

126.mﬁﬁ§hwaﬁ?-m
FHEA R ?
(b) TTEEE i

a) P
(c) S = (d) Fd =

127, fyafifaa i & 7 -a1 vk 9 9e gafera Tei 2 7
(et (o)

TR GRTETH
e N

T ATH)
(a]?}a’ﬂ B S E
(b) Bfhet - aERfer
(c) = Uer — I e
(d) YT - e
128. gt — 1 @1 g=h — 11 & gafera fifsg aor gfemi
& M9 Ry e e @ 9 Iw F1 w77 FRC |
gt - 1 et - 11
(7<) mmmﬁnﬁﬁ'ft}@__
A TSEH 1. 108
B. TSR 2. 7R
C. THAeH 3. 11 5%
D. U 4. 1268
e
A B C D
(a) 1 3 B 2
(b) 2 3 4 1
) 1 2 3 4
d 4 3 1 2

129. 2021 ¥ TR IATE B g 9= W9 e =7
TR S aret freq_driedve” & F

"
frfafes 8 4 e fvm on 2 e
(@ Wm0
(b) THITE He
(c) <t saTR g
(d) uiwg feetant
ISO.Wﬁﬁﬁ?-m%quﬁ% .
(em) Sl
(a) ETEM \_%:W)
(b) sifFa - M
(c) 3T woeym - TamE
(d) W&iET o fhedve - .

-24.
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132,

133.

134.

SMRN-1 - 21
, giufeat w fa=m Fifsre qen
Consider the following Committees on | 131. t=mad T T et ET i
anchayati Rg ' '
yal and arrange these in = TR
chronological order - sraiveR Al gftfd
- Ashok Mehta Committee . ferd! afifd
Il L.M. Singhvi Committes I Cet.0H.
: Hedl
III. B.R. Mehta Committee IIL. 3.3 18 oy
IV. GK.V. Rao Committee v, st m@ gergdl | Tl I H =T
Select the correct answer from the codes A1 fag @ %2
given below. Fifee |
Codes : Fe
; b) 1I, I, IV, 1I
@L I, O, IV (b1 I, v, I (@1, 1, 1L, IV :d; m, 1, 1v, I
(©IL I, I, V. (d) I, 10, IV, I (c) I, 1, 1, Nriﬁm e e s
The functions of the State Public Service | 132. I Wa¥ % TH 3
ommission of Uttar Pradesh can be " freame feman ST wehd
extended by :
DiciEif-N .
(a) Prime Minister | {g) g-?gflﬂ i, e Rrepra qur 9y
(b) Union Ministry of Personnel, Public (b) o
Grievances and Pensions AT G
(c) The President (c) Tt
(d) Uttar Pradesh State Legislature (d) ST e Fawr HOST aT .
. Lty o ItfirT (A
Given below are two statements, one is | 133. ﬁi’ﬁﬁﬂqﬁqm%, ﬁQ‘; (A)
labelled as Assertion (A) and other as aﬂragiﬁw (R) =heT =1 K
Reason (R) : ‘ i arfreRe (A) : foean 72 gt 7 Y werEE 1
Assertion (A) : Teesta river was ear Y P fEEEF T L |
tributary of Ganga now it is a tributary SFRIA X
of Blll-a_iaiymaputra. - . &R (R) : T 798w femem & afed) =1 =
Reason (1}2})1 3 R;Y:; ac;?;;it%r;lg is a major ;ﬂf{m% I N
feature of Him o ﬁi?—,rq
Seelect the correct answer using the codes = ﬁq THE W HE I H = |
given below. . e .
Codes : ‘ (8) (A) 3R (R) St 7w & 3iR (R), (A) F @&l
(a) Both (A) anld (I;)t ate gt(lAe]and (R) is o m H 3’-?1
correct explan : A) 3R (R) 3l e §, (R), (A)
() Both () and (R arc o WD | v
not correc plana false (c) (A) Tea & % (R) e 2
(c) (A) is true, but (R) is (d) (A) T &
(d) (A) is false, but (R) is true ’ ﬁ"ﬁ (R) e @
The primary d?fy c?t; tilf;e Finance 134. WRa % ¥ sy 1 Ml e 2
Commission of Inci dations on (a) W9 3k Y
ive the recommen F T o & Ry
(a) g‘i’s Ehution %f é?xtr:vcnuc between ¥ R o
: e
the Union and 253 ual i
(b) To prepare the Union Ann . (B) T e wrore e s
e anc Ny freh
(©) '?: agvise the President on fin (c) N - o
matters s to various (d) ¥ 5 .
(d) To a-n°‘i§f;° gﬁ-,i:-tmcnts of trtlg * M“ﬁmwﬁ & ffirr Hamert /v
%gilcl::fin State Governmen » w1 fafvam s
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135. frer & A -4 Wmmﬁ'&ﬁaﬁ‘qﬁ?@

135. : ing labour yclatgd : 4
R e T malgamated into the difin, 2019° # Gfefer forn T 2 7
‘Code on Wages, 2012 f I, W Ag arfufram
1Y G

I. Minimum Wages Sat 1. 4 SUIE! sifyfrm

II. Payment of Bonus AC .
III. The Contract Labour Act 111, dferey 2w st
IV. Equal Remuneration Act IV. g qiierfien Frftrfray

Select the correct answer using the codes £ 3 ™ Fe @ T IAH T HIfT |
given below.
Codes : He:

(a) I and II only (a) et 1 311
(b) 11 and III only (b) = 11 3T I

(c) I, Il and IV only (c) s 1, 11 3R IV
(d) L, II, Il and IV (d) L, II, IIT 3 IV

136. Who among the following was NOT | 136. f= # & %M T 1924 % HMR 7g9 ArAat &
associated with the Kanpur Conspiracy woftrer T o ?
Case of 1924 ?

(a) Muzaffar Ahmed () TIFHR HEHG
(b) Nalini Gupta {b) AT T
"(c) Shaukat Usmani (c) Zitsha IGHFT
(d) M.A. Ansari (d) @. €. @

137. As per the fCel?s?Sﬁ 2011 est}ilmates, 137. SUEAT, 2011 & HE[HTH‘I F IJER T |, =
which one of the following is the most B I T S AR R ?
populous State in India ? RS . 87
(a) Bihar (b) Madhya Pradesh (a) TR (b) WET W=
(c) Maharashtra (d) Uttar Pradesh (c) HETSS (d) ST wRW

138. Which one of the following is NOT | 138. fim=ifea & & =l9-w1 gm udt giferq 7t 2 ?
correctly matched ? (Frer) (et

Subject Related —
(Subect (Artlcles) m
(a) The separation of — Article 50 (a) RTfeTE I FETTHR - geSe 50
judiciary from executive E2 EREETU| _
(b) The promotion of ~ Article 46 (b) srggfaa sfaat qen - TR 46
educational tsmdt srgyfaa sAefeEl %
e Geheduled Castes Refors 7en snffe
and Scheduled Tfribes feai it sty
e promotion o - Article 43A c) HEwr! maEfe @ - A=
(©) ’gs.o‘;emti_ve Societies ) i 43A |
he organisation of - Article 40 . .
) ’\r/illagc Panchayats (d) 7™ WRFﬁ EARIGT - AT 40
and cnablc them t(? i 3= @ £
function 88 the units Al ¥ w9 e e
of self £° g T |
-26-
A
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139. Which among

perrnanent and 4
: . 0
stations in Antan-ctPeratlona] research

(a) Bharati and Arya

(b) Bharati ang Dakshin Gangotri
(¢) Bharati ang Maitri

(d) Dakshin Gangotri and Maitrj

140. Which one of the following j
correctly matched ? >awing fs NOY

(Name of Player) (Medal Won in

Tokyo Olympic
2020)
(@) P. V. Sindhu

— Bronze Medal
(b) Bajrang Punia - Silver Medal
(c) Mirabai Chanu - Silver Medal
(d) Neeraj Chopra - Gold Medal

141. How many districts of Uttar Pradesh
has been covered under the Aspirational
District Programme run by NITI Aayog,
up to June, 2021 ?
(a) 4

(c) 8

(b) 6
(d) 10

142. Wh1-ch among the following organisations
released the World Population Report,
2021 7? '

(a) International Monetary Fund
(b) United Nations Population Fund
(c) World Health Organisation

(d) United Nations Development
Programme

List — I with List — II and sqlect
M 1II:\ill":;tcc::c}:rmct answer using the codes given
below the lists.

SMRN-1 - 21
: Ferhfeent § R &1 Tt
2t 3 A 8 2
(@) st 3 I
(b) e i et A
(c) vt affC A o
(d) 2faur T 3
140, frerfurn 1 & #-91 98 GARr 7l 2 7
(Reerfiaam) (R et
— 2020 ¥ fafem
~—_ WEw)
() Tt <ft. Ty - Uk
(b) ST g - §d9cH
(C)I‘ﬁw'éa]-:{\ - Iﬁﬁm
(d) e shogr - =0 S

141, ifq SN GRS 57 @ e e FriEs
% =i S Yo¥T & fhaa ftedi =t 5[, 2021

ek wfhe e T 8 7 I
(a) 4 (b} 6
(c) 8 (d) 10

142. Frfefes 3 & o Hme gra o wigem
Raré, 2021 v fem man & 7
(a) SIS TeT iy
(b) HEFT T TEGAT FY
(c) Trva @y dmag

- List - II
:"li':;t) ! (Author)
A. Ragamala 1. Somanath
B‘ Rasa Kaumudi 2. Venka‘tran}an
G Raga Vibodh 3. Pundrik Vitthal
D: Chaturdandi 4. Sri Kantha
Prakashika
Code;: B 5 5
(a 3 4 1 g
(b) 4 2 1 :
() 2 3 g A
(d 1 2

(d) S g e sy
143.?@—1@@-.[[ ﬁgﬁmwm .
*ﬁﬁW%ﬁHﬁmwwﬁmﬂ |
RS =t - 11
(=) (vafimm)
A. TTHTET 1. Sy
B.rag%‘cﬂ 2. dwewn
C. T tqay 3. Wels feaw
D. =geve) 4. 3 g
EEZ:A
B ¢
@ 3 4 1 12)
b)) 4 o 3
€0 2 3 4
d 1 o 3 4

27.
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144. With reference to the special address
of the President of India, which of the
following statements is/are correct ?

1. The President addresses the joint
meeting of both houses of Parliament
at the commencements of the first
session after each general election of
the house of the people and at the
commencement of the first session
of each year.

2. The President in his address informs
the Parliament of the causes of its
summons.

Select the correct answer using the codes

given below:.

Codes :

(@) 1 only

(b) 2 only

(c) Both 1 and 2

= '(d) Neither 1 nor 2

Which of the following organization has
launched “The Great Reset’ Initiatives for
the recovery of global economy during
~ the Post Covid ~ 19 phase ?

(a) World Economic Forum .
(b) World Bank

(c) OECD

(d) UNCTAD

145.

A clove represents to which of the
following ?

(a) Terminal bud
(b) Accessory bud
(c) Flower bud

(d) Vegetative bud

146.

Headline inflation refers to the change
in value of all goods on the basket. On
which basis is the headline inflation

asured ,
;2)6 wholesale Price Index

(b) Consumer Price Index for Industrial
Worker

© Combined Consumer Price Index

(d) Urban Consumer Price Index

147.

SMRN-1 - 21

144, Yy % Tegufa % fadw aftmw & gy d

friftra o | w-w1/3 FuF v 2/ 7

1. asgufar, eieRET = g fafe &
YTHETd W F 3N Y ad % gy 99 *
I | THE % g1 9l I 4 43
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(b) HERIR et
(c) R Hhedt
(d) aveafa et

147, Y gerehife sttt o o aean :
Sty 1 i e B 1 o ap
W foRE amum o feren st & 2
(a) ¥ Te¥ FEHiH
(b)aﬂﬁﬁ*wﬁmmﬁwmm
(¢) e Savir e Huwis
(d)mﬁwﬁw%m

-28.

Scanned with CamScanner



148.

Given below are t
labelled as Assertviv ,
Reason (R) :
Assertion (A) :
detqrmines the

Chairman and M
Commission.

Reason (R) : Chairman and
: m
appointed by the President oF Etc)l?zl;s e
Select the correct answe
given below.
Codes :
(a) Both (A) and (R) are true
correct explanation of (A)
(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

statements one is
on (A) and other as

The President of | dis
qualifications e

r using the codes

and (R) is

~ (©) (A) is true, but (R) is false

149.

150.

(d) (A) is false, but (R) is true

Match List — I with List — II and select
the correct answer using the codes given
below the lists.

List -1 List - II
(Scheme) (Year of Launch)
A. Aam Aadmi 1. 2021
Bima Yojna
B. P.M. Aatmanirbhar 2. 2016

Swasthya Bharat Yojna

C. Pradhan Mantri 3. 2007
Jan Aarogya Yojna

D. Pradhan Mantri 4. 2018
Suraksha Bima Yojna

Codes :

A B C D

@ 1 2 3 4

b) 4 3 2 1

(c) 3 1 4 2

@2 4 1 3

following never presided
yggsggg%gf }l;(éian Natignal Congress ?
(a) Lala Lajpat Rai ’
(b) Bal Gangadhar Tilak
(c) Gopal Krishna Gokhale
(d) Subhash Chandra Bose
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A1 fg 1 2 1 FETTC 8 T I <

e |

E)Z(A) i (R)aﬁm‘éaﬂt (R), (A) 1 5t
STET T 8 .

(b) (A) 3 (R) 3l & &, Freg (R), (A)
T =T El A

(c) (A) T B, g (R) Terel 3

(d) (A) Tera 2, FRg (R) ¥e3 2

T - 1 9 gl - 11 @ gafera iR 7o i

¥ A Ry e e @ w9 IW F T HRE |
Tt - 1 Tt - 1

(@) _ (e =)

A. 3 et i FeE 1. 2021

B. 4w, metnit ey 2. 2016
CEGRIEE)

C. YR S IR A

D. YU gee s\ arem

L T

3. 2007
4. 2018

(a)
(b)
(c)
(d) 4 1 3

freferftaa 3 @ forem it oft st ot v
o fRefl oft aftevm & smem a6 7
(CYASINIBSIERGRID

(b) ST MR foreres

(c) MU FHT Trget

(d) I < g

KN W s~ >
- W N W
20 WA
N o= b
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